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Vi
r, H,
V1 V1 =TUPH
cr=1.4cm, H = 33cm 'V, =
203m
Von=n-Vy ()
\Y 'V =V -
\Y
Vo
Vo =V + Von
P = Pm:
P _ P()Vo Po(l’lVl +V -V )
mex Ty vV -V
P t
_ Po(nvy +V -V )
Prex = V -V = 863kPa
(6)
1 2 3 4 516
Vi (m) 1330 1330 1330 1330 1330/ 1330
V[ (m) 300 | 400 | 500 | 600 | 700 | 800
V. /(m) [1030] 930 | 830 | 730 | 630 | 530
n/ 35| 34| 32| 3]|27] 2
:Vay (m)] 7105] 6902 | 6496 | 6090 | 5481 | 4060
1 Vo (m) | 8135|7832 7326 | 6820 | 6111 | 4590
: Prnd_(KPa) |789. 8894. 6/882. 6934. 2970. 0866. 0
: Praxd (KPa) | 411 | 465 | 460 | 485 | 500 | 450
(99 29.1] 43.0] 60. 2| 82.2(111. 1|132. 0
‘H/m 21 | 23 |24.5| 25 | 24 | 21
(1/2)
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